Run 5067 quartetwise, Asyms0 (Raw): All
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Run 5067 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5067 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5067 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5067 quartetwise, Difts0: All
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Run 5067 quartetwise, Diffs0: Beam ON, Laser ON
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Run 5067 quartetwise, Diffs0: Beam OFF
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Run 5067 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 5067 quartetwise, NegHelAccO/NSamples0: All

quartetwize_negHQ
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Run 5067 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
guanctwisd baami las® nagHD
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Run 5067 quartetwise, NegHelAccO/NSamples(: Beam OFF
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Run 5067 quartetwise, NegHelAccO/NSamples0: Bearm OM, Laser OFF

quanctwisa baami lasl nogHO
B _ Entries 574
— M Mean 6.286
[ [ Std Dev 0.2566
[ 1
o My v My v Ty s by v v b v by v vy a |_|||-| T | I 1
2 5.4 5.6 5.8 5] 6.2 6.4 6.6 6.8 7 7.2

MNegHelAccO/MNegHelNSamplesD



Run 5067 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
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Run 5067 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON
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Run 5067 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5067 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser OFF
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Run 5067 quartetwise, Sums0: All

quartetwize_summbD
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Run 5067 quartetwise, Sums0: Beam ON, Laser ON
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Run 5067 quartetwise, Sums0: Beam OFF
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Run 5067 quartetwise, Sums(: Beam ON, Laser OFF
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